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Math 141

Section:

1. Completely evaluate the following definite integral:

/Ol(eh-i-l)dx =

2. If f(z) = ***®, find an equation for f'(z).

(a) ptan(z) | Sec2(:r) . Ji(z) 4 tan(z)

(b) z*® (secz(:c) -In(z) + tan(z) - In(z))

ptan(a) | sec?(z) + In(z)
+ tan(z) - ln(:v))
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(e) ztan(@) ( —SGI::Z(:)E)
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January 25, 2013

There are 5 multiple choice problems, and 2
short answer problems. You have 25 minutes
to complete the quiz.

Please mark all multiple choice answers
in the box provided.
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3. Evaluate the following integral: cQu
/- NS PPN d:r"
(z:4/1- (Inz))® ~
(a) sec(In(z))+C U-Sula
(b) sec‘l(:z)+C "= l'\ix)
(c) sin™1( +ﬂ d"‘: x &7‘
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(d) In(z) -sin~}(z) + C | ! ; --(
= | — = LS P PXe) C
(@) sin-1(z) 4. C j T du = Sin (L() C in )"
4 Let f(z) = logs(a) - 5. Find f'(o). ﬁq{-('% - 5? . ;‘/):(loj <x9-5'+ loa OOQ%(S
n(z S S ‘
(a) ini ; 5% +In(5) - logs(z) - 5% 4 )"X
|
(b) ln(5)~;+log5(:v)-1n(5)-51 (lv\is) x }5 + log - (5 "\(5))

(c) — +logs(z) - 5°

(d) — + logs(z) - 5 - In(5)

-

(1) - 5% + logs(z) - 5% - In(5) (

e———

5. Find the derivative of y = In (e*

x‘ (ex Sialx) + e ws(ﬂﬁ
e sin(x)

- sin(z)). 'Q

@ 1+ 3 B
(b) - e® cos(z)

in(z) e®

Cos (%)

© cos(z) = l & -—""_"_"—

sin(z) sin (O

1 cos(z)

(d) sin(z) = e*-sin(z)

(e) None of the above.
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6. (2 points) Suppose that sin(f) = £ and that@/<_0i );md cos(f).
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7. Let f(z) = 23 + 22 + = + 1. Compute (f~1)'(4).

|
G ) (1) (5 ) _
| $= 3x*vax+1

5"(‘1)= x | / :
y= $x) = ex e x+1 Sl(,p'(_q)) = g(1)=3-1.+2-1+1
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